RILREF Y S

182

BJ730 szl
@

b~
&F v h

=
7 | ‘ )
. J;T . '.. Tl s
< (@ @Y
—'__II_ﬁ . L
(759h247) (EL—-33048417)
) p: V.3 R—JL
S45C —
= e BJ730/-04006~20032 | A 15 (Md~M8) -
(759b247) (tL—32%17) Mgl | TRC6~67
SCM435 SuJ2
BJ730/06113~20127 | 1oy 4o = HRC50~55
BoSvyhy147
a HEmE| HE
BJ730-04006 | M 4x0.7 3 6 45 7 5.5 2 1,050
BJ730-05008 | M 5x0.8 6 8 6 8 9 4 1,110
BJ730-06009 | M 6x1 7 9 74 10 13.7 12 1,150
BJ730-08012 | M 8x1.25 9 12 10.5 13 25.6 15 1,850
BJ730-10016 | M10x1.5 11 16 12.7 17 40 45 2.400
BJ730-12020 | M12x1.75 | 12 20 15 22 59.4 50 2,600
BJ730-16025 | M16x2 16 25 20 27 96.4 115 3,100
BJ730-20032 | M20x2.5 20 30 22 32 100 200 4,000
BteL—3o547
a H HEAE HE
@ & M L | 028 | ¢ e «N) | (g |E W
BJ730-06113 | M 6xi1 7 15 7.500
BJ730-08113 | M 8x125 | 8 19 67 | 13 10 20 | 7.900
BJ730-10118 | M10x15 10 8 - 7 55 35 11,400
BJ730-12118 | Mi12x175 | 12 45 11,400
BJ730-16127 | M16x2 16 160 13,900
BJ730-20127 | M20x25 20 & 2 30 % 180 15,100

ERPI - EAGE

BJ530PF. 1652 5%

TviI5TF
BJ130P. 1646 5%

TyTRILE—

S

T

Y R—-%—

/B1300F. 1718 58

95T NyR R —-MURIZ,

S ARHEIE
F—IOEEFGIEIEEhTWER A, BERFIEZ1T7 1L
BUH R—L2=yhEZERLEE, (P, 1774 £88)

- 78 - $EA| TEL.0575-28-4811 | 8S18%8 | TEL.0575-32-2239 197 D-KL~Js2



